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                         SECTION-A  

(GENERAL AWARENESS) 

1. Which table in an operating system contains 

information about all the open files? 

 (a) open- file table (b) open-seek table 

 (c) open table (d) open location table 
 

2. The release of which of the following into ponds 

and wells helps in controlling the mosquitoes? 

 (a) Crab (b) Dogfish 

 (c) Snail (d) Gambusia Fish 
 

3. The Attorney General of India is appointed by 

the: 

 (a) Prime Minister  (b) Law Minister 

 (c) President of India  (d) Home Minister 
 

4. In earth atmosphere which of the following 

continuously decreases with height? 

 (a) Wind velocity  (b) Temperature 

 (c) Pressure  (d) Humidity 
 

5. Which of the following can not act as a 

bleaching agent? 

 (a) Nitrous oxide (b) Sulpher dioxide 

 (c) Chlorine (d) Hydrogen Peroxide  
 

6. The toxic metal associated with the Minamata 

episode is: 

 (a) cadmium (b) lead  

 (c) mercury (d) arsenic 

 
 

7. Which state in India has the largest coastline? 

 (a) Andhra Pradesh  (b) Gujrat 

 (c) Tamil Nadu   (d) Maharashtra 
 

8. The crop Development Programme of the 

Government of India covers which of the 

following groups of commercial crops? 

 (a) Tea, Cotton and Rubber  

 (b) Jute, Tea and Coffee 

 (c) Cotton, Jute and Sugarcane 

 (d)  Tea, Coffee and Spices 
 

 

 

 

 

1. vkWijsfVax flLVe esa fdl rkfydk esa lHkh [kqyh Qkbyksa dh lwpuk jgrh       

    gS A    

(a) vksiu&Qkby Vscy  (b) vksiu&lhd Vscy 

 (c) vksiu Vscy  (d) vksiu&yksds’ku Vscy 

 

2. fuEufyf[kr esa ls fdls rkykcksa vkSj dqvksa esa NksM+uk ePNjksa ds  

      fu;a=.k es lgk;d gksrk gS\ 

(a) dsdM+s   (b) MkWxfQ’k 

 (c) ?kksa?kk   (d) xSecqfl;k fQ’k 

 

3. Hkkjr ds vVkWuhZ tujy dh fu;qfDr fdlds n~okjk dh tkrh gS\ 

(a) iz/kkuea=h   (b) fof/k ea=h 

 (c) Hkkjr ds jk”V ªifr  (d) xg̀ ea=h 

 

 

4. i`Foh ds ok;qeaMy esa] fuEufyf[kr esa ls fdlesa ÅapkbZ c<+us ds 

lkFk&lkFk deh vk tkrh gS\ 

(a) iou osx   (b) rkieku 

 (c)nkc   (d) vknzZrk 

 
5. fuEufyf[kr esa ls D;k fojatd vfHkdeZd dk dke ugha dj ldrk\ 

(a) ukbVªl vkWDlkbM  (b) lYQj Mkb&vkWDlkbM 

 (c) Dyksfju   (d) gkbMªkstu ijkWDlkbM  

 
6. ehukekrk ?kVuk ls dkSu&lh fo”kkDr /kkrq tqM+h gS\ 

 

(a) dSMfe;e   (b) lhlk ¼ysM½ 

 (c) ikjn   (d) vklsZfud 

 
 

7. Hkkjr esa fdl jkT; dh rVjs[kk lcls yach gS\ 

(a) vka/kz izns’k  (b) xqtjkr 

 (c)rfeyukMq  (d) egkjk”Vª 

 

8. Hkkjr ljdkj ds Qly fodkl dk;ZØe ds varxZr fuEufyf[kr esa 

ls fdu okf.kfT;d Qlyksa dk lewg vkrk gS\  

(a) pk;] dikl vkSj jcM+  

(b) twV] pk; vkSj dkWQh 

 (c) dikl] twV vkSj xUuk  

(d) pk;] dkWQh vkSj elkys 
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9. An Example of a solution of liquid in solid is : 
 

 (a) Jelly  (b) Rubber 

 (c) Foam  (d) Smoke 

10. Which one of the following is not correctly 

matched? 

 

 (a) Iron ore-kudremukh 

 (b) Copper- Khetri 

 (c) Manganese- Koraput 

 (d) Coal- Singreni 

 

11. Under the Constitution of India who are the 

ultimate sovereign? 

 (a) President of India   

 (b) Indian People 

 (c) Prime Minister of India   

 (d) All elected leaders of India  

 

12. Which of the following does not belong to 

physical environment? 
 

 (a) Lithosphere  (b) Atmosphere 

 (c) Hemisphere     (d) Hydrosphere 
 

13. Which memory is both static and non-volatile? 

 (a) RAM  (b) CACHE 

 (c) ROM  (d) BIOS 

 

14. Loss of Water in plants in the form of liquid is 

known as  
 

 (a) Osmosis  (b) Imbibition 

 (c) Transpiration  (d) Guttation 

 
 

15. Which was the instrument that was played by 

Ustad Bismillah Khan? 

 

 (a) Sitar  (b) Shehnai 

 (c) Santoor  (d) Flute  

  

 

 

 

 

 

 

 

9. Bksl esa rjy ds foy;u dk mnkgj.k D;k gS\ 

        (a) tsyh   (b) jcM+ 

 (c) Qkse   (d) /kqvka 

 

10. fuEufyf[kr esa ls fdldk lgh esy ugha fd;k x;k gS\ 

 

(a) ykSg v;Ld&  dqnzseq[k  

(b) rkack&[ksrjh 

 (c) eSxuht& dksjkiqV   

(d) dks;yk& flaxjsuh 

 

11. Hkkjr ds lfoa/kku ds varxZr ije laizHkq dkSu gS\ 

 

(a) Hkkjr ds jk”V ªifr   

(b) Hkkjrh; turk 

 (c) Hkkjr ds iz/kkuea=h   

(d) Hkkjr ds lHkh fuokZfpr usrk 

 

 

12. fuEufyf[kr esa ls fdldk lEcU/k  HkkSfrd  i;kZoj.k ls ugha gS\ 

(a) LFky eaMy  (b) ok;qeaMy 

 (c) xksyk/kZ   (d) tyeaMy 
 

 

 

13. dkSu& lh eseksjh LFkk;h vkSj fLFkj nksuksa gksrh gS\ 

 

 (a) RAM  (b) CACHE 

 (c) ROM  (d) BIOS 

 
 

14. ikS/kksa es rjy ds :Ik esa ikuh dh deh dks D;k dgrs gSa\ 

(a) ijklj.k   (b) fuiku 

 (c)ok”iksRltZu  (d) fpRrh iM+uk 

 

 

 

 

15. mLrkn fcfLeYykg [kkWa dkSu lk okn~; ctkrs Fks\ 

 

(a) flrkj   (b) ‘kgukbZ 

 (c)larwj   (d) ckalqjh 
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SECTION-B  

(ENGLISH) 
In the following questions choose the word which is 

the exact OPPOSITE of the given words- 

 

16. RARELY 

 (a) Hardly  (b) Definately  

 (c) Frequently  (d) Periodically 
 

17. MORTAL 

 (a)Divine  (b) Immortal 

 (c) Spiritual  (d) Eternal 
 

18. ARTIFICIAL 

 (a) Red  (b) Natural 

 (c) Truthful  (d) Solid 

 
 

19. ENORMOUS 

 (a) Soft    (b) Average 

 (c) Tiny  (d) Weak 

Pick out the word closest in meaning to the given 

word: 
 

20. OMNIPRESENT 

 (a) Permanent  (b) Ever- Present  

 (c) Temporary  (d) None of Above 
 

21. Align 

 (a) Disunited  (b) Divergent 

 (c) Adjust  (d) Subserviant 
 

 

Choose the correct alternative which can be 

substituted for the below given word/sentence. 
 

22. The person who knows everthing 

 (a) Omnipresent  (b) Omnipotent 

 (c) Omniscient  (b) Oblivious 

 
 

23. A person involving in an activity for pleasure 

and not money is called as         . 

 (a) Amateur  (b) Follower 

 (c) Altruist  (d) Antiquarian 

 
 

24. ‘A large enclosure for keeping birds’ is also 

called as . 

 (a) Zoo  (b) Aquarium 

 (c) Aviary  (d) Homicide 

 

 

 

 

 

 

 

 

 

Supply suitable preposition/ Phrasal verb in the 

blank of each item 
 

25. Universities in Germany and Denmark will 

have an input ____  the project. 

 (a) for  (b) into 

 (c) about  (d) at 
 

26. He gave me a leg _____ when I was completely 

new to the business. 

 (a) up  (b) down 

 (c) off  (d) for 
 

27. You should have nothing to do with those 

criminals; they all have violent attitudes and 

long records. They are men ______ the same 

kidney. 

 (a) with  (b) in 

 (c) of  (d) on 

 

Directions (for the 06 items that follow): 

In the following sentences, some parts of the 

sentences have been jumbled up. You are required 

to rearrange these parts which are labeled P, Q, R, 

S to produce the correct sentence. Choose the 

proper sequence and mark in your answer sheet 

accordingly. 
 

28. she and neither have I the assignment yet 

  P            Q             R 

 hasn’t finised 

  S 

 The correct sequence should be  

 (a) QRSP  (b) QPSR 

 (c) PQSR  (d) PSRQ 
 

29. You’ll 

 Know how to do it have to    

                 P  Q 

 Because she does not help her 

        R     S 

 The correct sequence should be  

 (a) QSPR  (b) SRPQ 

 (c) QPRS  (d) QSRP 
 

30. Would you 

 Like to come on Saturday   

         P      Q 

 at the International House   to the concert 

           R               S 

 The correct sequence should be  

 (a) PQRS  (b) PSQR 

 (c) RSPQ  (d) PQSR 
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SECTION-C 

(PHYSICS) 
31. A heat engine absorbs 360J of energy by heat 

and performs 25J of work in each cycle. The 

energy expelled to the cold reservoir in each 

cycle is  

 (a) 360J   (b) 385J 

 (c) 335J   (d) 14.4J 
 

 

32. When a belt moves horizontally at a constant 

speed of 1.5 ms—1,gravel is falling on it at 5 kgs—1. 
Then the extra power needed to drive the 
belt is  

 (a) 11.25 W  (b) 37.5 W 

 (c) 7.5 W   (d) 0.75 W 
 

33. A stone is tied at one end of a 5 m long string 

and whirled in a vertical circle. The minimum 

speed required to just cross the topmost position 

is  

 (a) 5 ms—1               (b) 7 ms—1 

 (c) 57 ms—1  (d) 75 ms—1 

 

34. The ratio of the angular speed of minutes hand 

and hour hand of a watch is: 

 (a) 6:1   (b) 12:1 

 (c) 1:6   (d) 1:12 

 

35. The frequencies of X rays, Gamma rays and 

visible light waves rays are a, b and c 

respectively, then  

 (a) a> b > c  (b) a > b, b < c 

 (c) a< b, b > c  (d) a < b, b < c 

 

36. An equiconvex (biconvex) lens has focus     

length f. It is cut into three parts as shown in the 

figure. What is the focal length of cut part I ? 

                           

        (a) 
𝒇

𝟐
   (b) 𝟐𝒇 

 (c) 𝟑𝒇   (d) 
𝒇

𝟑
 

 

31. ,d Å”ek batu izR;sd pØ esa 360J Å”ek dk vo’kks”k.k djrk gS 

rFkk 25J dk;Z izR;sd pØ esa djrk gSA izR;sd pØ esa BUMs gkSt dks 

nh xbZ ÅtkZ gksxh 
 

 (a) 360J   (b) 385J 

 (c) 335J   (d) 14.4J 

 
32. tc ,d csYV 1.5 ms—1 ds ,d leku osx ls {kSfrt esas xfr dj 

jgk gSA rc ml ij 5 kgs—1dh nj ls dadM fxj jgs gSA rc csYV 

dks pykus ds fy;s vko’;d vfrfjDr ‘kfDr dgksxhA 

 (a) 11.25 W  (b) 37.5 W 

 (c) 7.5 W   (d) 0.75 W 

 

 

 

33. 5 ehVj yEch Mksjh ds ,d fljs ij ,d iRFkj ck ¡/kdj mls Å/oZ 

o`Ùk esa ?kqek;k tkrk gSA og vko”;d U;wure osx ftlds 

}kjk mPpre fcanq dks dsoy ikj fd;k tk lds gSA 
 (a) 5 ms—1   (b) 7 ms—1 

 (c) 57 ms—1  (d) 75 ms—1 
 

 

 

 

34 ,d ?kM+h dh feuV dh lqbZ o ?kaVs ds dks.kh; osx dk vuqikr gksxkA 

 (a) 6:1   (b) 12:1 

 (c) 1:6   (d) 1:12 
 

 

35. X fdj.kksa] xkek fdj.kksa rFkk n’̀; izdk’k rjax fdj.kksaa dh vko`fr;k 

¡Øe’k % a, b rFkk c gSa rc  
 

(a) a> b > c  (b) a > b, b < c 

(c) a< b, b > c  (d) a < b, b < c 

36.,d le mÙky ysal ¼mHk;ksaÙky½ dh Qksdl nwjh  f gSA  
bldks fp=kuqlkj rhu Hkkxksa esa foHkkftr fd;k tkrk gS rks dkVs 

x, Hkkx I  dh Qksdl yEckbZ D;k gksxh ? 

 

                

        (a)  
𝒇

𝟐
   (b) 𝟐𝒇 

 (c)   𝟑𝒇   (d) 
𝒇

𝟑
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37. For the combination of gates shown here, which 

of the following truth table part is not true 

 

 (a) A=1, B=1, C=1 

 (b) A=1, B=0, C=1 

 (c) A=0, B=1, C=1    

(d) A=0, B=0, C=0 

 

38. A proton and an alpha particle both are 

accelerated through the same potential 

difference. The ratio of corresponding de-

Brogile wavelength is: 

 (a) 2   (b) 2  

 (c) 2 2    (d) 
1

2 2
 

 

39. Suppose you drive to Delhi (200 km away) at 400 

km/hr and return at 200 km/hr. what is yours 

average speed for the entire trip? 

(a) Zero    

(b) 300 km/hr 

 (c) Less than 300 km/hr 

 (d) More than 300 km/hr 
 

40. A system undergoes a reversible adiabatic 

process. The entropy of the system 

(a)  increases  (b) decreases 

 (c) remains constant  

(d) may increase or may decrease 
 

41. A cell has terminal voltage 2V in open circuit 

and internal resistance of the given cell is 2 . If 

4A of current is flowing between points P and Q 

in the circuit and then the potential difference 

between P and Q is 

 

 (a) 30V   (b) 26V 

 (c) 22V   (d) 24V 

 

 

37. uhps fn, x, rdZ }kjksa ds la;kstu ds fy, fuEu lR; lkj.kh dk 

dkSulk Hkkx lR; ugh gS  

       

 (a) A=1, B=1, C=1 

 (b) A=1, B=0, C=1 

 (c) A=0, B=1, C=1    

         (d) A=0, B=0, C=0  

38. ,d izksVksu ,oa ,d vYQk d.k nksuksa dks leku foHkokUrj n~okjk 

Rofjr fd;k tkrk gSA mudh laxr Mh czksXyhs rajxnS/;ks dk vuqikr gS 

(a) 2   (b) 2  

 (c) 2 2    (d) 
1

2 2  

39. ;g ekfu, fd vkidks 200 fd-eh nwj fnYyh dks 400 fd-eh@?akVk ls 

tkuk gS rFkk 200 fd-eh@?akVk ls ykSVuk gSA vkids bl nkSjs dh 

vkSlr pky D;k gksxh? 

(a) शून्य    
(b) 300km/hr 

 (c) 300km/hr से कम  

(d) 300km/hr से अर्िक 
 

40. एक निक य एक उत्क्रम.khय #/nks”e प्रक्रम से गुजरती 
है । निक य की एंरोपी 
(a) c<+sxh   (b) ?kVsxh 

 (c) vpj jgrh gS  (d) c<+ ;k ?kV ldrh gS 

 

41. [kqys ifjiFk esa ,d lsy dh fljksa dh oksYVrk 2V gS rFkk fn, x, 

lsy dk varfjd izfrjks/k 2 gSA ;fn 4A dh /kkjk fcanqvks P rFkk 

Q ds e/; ifjiFk esa cg jgh gS fcUnqvksa P rFkk Q ds e/; 

foHkokUrj gS 

 

 

(a) 30V   (b) 26V 

 (c) 22V   (d) 24V 
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42. Which of the following material has lowest 

resistivity? 

 (a) Constantan  (b) Silver 

 (c) Manganin  (d) Copper 

 

43. A narrow white light beam fails to converge at a 

point after going through a converging lens. 

This defect is known as  

 (a) Polarization       (b) Spherical aberration 

 (c) Chromatic aberration (d) Diffraction 
 

44. Ina room where the temperature is 30°C a body 

cools from 61°C to 59°C in 4 minutes. The time 

taken by the body to cool from 51°C to 49°C will 

be about 

 (a) 4 minutes  (b) 6 minutes 

 (c) 5 minutes  (d) 8 minutes 

 
 

45. An incompressible non viscous fluid flows 

steadily through a cylindrical pipe which has 

radius 2R at point A and radius R at point B 

farther along the flow direction. If the velocity of 

the fluid at point A is V, its velocity at the point 

B will be: 

 (a) 2V   (b) V 

 (c) V/2   (d) 4V 
 

46. Figure shows the total acceleration a=32 m/s2   of 

a moving particle moving clockwise in a circle of 

radius R=1m. What are the centripetal 

acceleration and speed v of the particle at given 

instant? 

 

(a) 16 m/s2, 16 m/s  

(b) 16 m/s2, 4 m/s 

 (c) 𝟏𝟔√𝟑  m/s2, 𝟒√𝟑 m/s2  

(d) 𝟏𝟔√𝟑  m/s2, 𝟒m/s 

 
47. Magnitude of binding energy of satellite is E and 

kinetic energy is K. The ratio E/K is  

 (a) 1   (b) 1/2 

 (c) 2/1   (d) 1/4 

 

42.  fuEu esa ls lcls de izsfrjks/kdrk okyk inkFkZ gS  

 

 (a) dksaLVsuu   (b) pkanh 

 (c) esaUxhau   (d) rkEck 

 

43. ,d ‘osr izdk’k ladh.kZ fdj.k ,d vfHklkjh ysal ls xqtjus ds 

Ik’pkr ,d gh fcanq ij vfHklkjhr gksus esa vlQy gksrh gS ;g nks”k 

fuEu dgykrk gS 
 (a) /kqzo.k   (b) xksyh;k foiFku 

 (c) o.khZ; foiFku  (d) foorZu 

44. ,d dejs dk rki 30°C gS blesa ,d oLrq dks 61°C ls 59°C 

rd B.Mh gksus esa yxk le; 4 feuV gSA oLrq dks 51°C ls 49°C 

rd B.Mh gksus esa yxk le; yxHkx gksxk 

(a) 4 feuV  (b) 6 feuV 

 (c) 5 feuV  (d) 8 feuV 

 

45. ,d valihM+~; v’;ku nzo ,d csyukdkj ikbi esa ls lrr :Ik ls cg 

jgk gSA bldsa cgko dh fn’kk ds vuqfn’k fcan qA ij nzo dk osx V 

gSA fcanq  A ij ikbZi dh f=T;k 2R gS rFkk nzo izokg dh fn’kk esa 

nwjLFk fcanq B ij ikbZi dh f=T;k R gS rks fcanq B ij nzo dk osx 

D;k gksxk \ 

 (a) 2V   (b) V 

 (c) V/2   (d) 4V 
 

 

46. fp= esa f=T;k R=1m ds o`Ùk esa nf{k.kkorZ ?kwers gq, d.k dk dqy 

Roj.k a=32 m/s2 
gS rks d.k dk vfHkdsUnzh; Roj.k o d.k dh pky 

v fn, x, {k.k ij D;k gksxh \  

 

    

        (a) 16 m/s2, 16 m/s  

(b) 16 m/s2, 4 m/s 

 (c) 𝟏𝟔√𝟑  m/s2, 𝟒√𝟑 m/s2  

(d) 𝟏𝟔√𝟑  m/s2, 𝟒m/s 

 

 

47. lsVsykbV dh ca/ku ÅtkZ dk ifjek.k E gS rFkk mldh xfrt ÅtkZ 

dk eku K gS rks vuqikr E/K gksxk 

(a) 1   (b) 1/2 

 (c) 2/1   (d) ¼ 
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48. A battery of constant voltage is available. How 

to adjust a system of three identical capacitors 

to get high electrostatic energy with the given 

battery 

 (a) Two parallel and one is series  

(b) Three in series 

 (c) Three in parallel 

 (d) Whatever may be combination, it will always 

have same electrostatic energy 

 

49. Which of the statement is incorrect about the 

simple microscope? 
 

 (a) Magnification of microscope is inversely 

proportional to the least distance of distinct 

vision.   

(b) A convex lens of microscope with shorter 

focal length yields higher magnification. 

 (c) Biology students use to see the slides 
   

(d) It is not used for magnification of an object 

at far away from the observer. 

 

50. Five resistance are connected as shown in the 

figure. The equivalent resistance between points 

A & C is  

 

 

 

 (a) 21.2                (b)30  

 (c) 44    (d) 
𝟐𝟎

𝟑
  

 

 

 

 

 

 

 

48.,d vpj oksYVrk dh cSVjh miyC/k gSA rhu ,dleku la/kkfj=ksa       

ds fudk; ls mPp fLFkj fo?kqr ÅtkZokyh fLFkfr izkIr djus 

ds fy, bUgsa dSls la;ksftr djuk pkfg, 

        (a) nksa lekUrj Øe esa o ,d Js.kh Øe dk la;kstu 

(b) rhuksa Js.kh Øe esa 

 (c) rhuksa lekUrj Øe esa    

(d) fdlh Hkh rjg dk la;kstu gks fLFkj fo|qr ÅtkZ ges’kk leku 

gksxh 

 

49. lk/kkj.k ¼ljy½ lw{en’khZ ds ckjs esa  dkSulk dFku vlR; gS\ 

 

(a) lw{en’khZ dk vko/kZu foHks|¼Li”V½ nf̀”V ds U;wure eku ds 

O;qRØekuqikrh gksrh gS 

(b) lw{en’khZ ds de Qksdl nwjh ds mÙky ysal ls vf/kd vko/kZu 

izkIr gksrk gS 

 (c)  tho foKku ds fo|kFkhZ LykbM dks ns[kus esa dke esa ysrs gSA

   

(d)  izs{kd ls nwj fLFkr oLrq ds vko/kZu ds fy, ;g mi;ksx esa ugha 

vkrk gSa 
 

 

50. ik¡p izfrjks/k fp=kuqlkj tqM+s gSA fcanq A rFkk fcanq C ds e/; rqY; 

izfrjks/k gksxk 

 

 

 

 

(a) 21.2                            (b) 30  

         (c) 44                 (d)  
𝟐𝟎

𝟑
  
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SECTION-D 

(CHEMISTRY) 

 

51. The lewis acidity of BF3 is less than BCI3 even 

though fluorine is more electronegative than 

chlorine. It is due to  

 (a) Stronger 2p (B)-2p(F) 𝛔 - bonding  

(b) Stronger 2p (B)-2p(F)𝜋- bonding 

 (c) Stronger 1p (B)-3p(C1) σ - bonding  

(d) Stronger 2p (B)-3p(C1)𝜋- bonding 

 
 

52. Amongst NO
−
𝟑
, AsO

𝟑−
𝟑

, CO 
𝟐−
𝟑

, CIO
−
𝟑
 ,   SO 

𝟐−
𝟑

and BO
𝟑−
𝟑

  the non planar species are  

(a) CO
𝟐−
𝟑

, SO
𝟐−
𝟑

 and BO
𝟑−
𝟑

  

 (b) AsO
𝟑−
𝟑

 , CO
𝟐−
𝟑

 and SO
𝟐−
𝟑

 

 (c) NO
−
𝟑
 ,CO

𝟐−
𝟑

 and BO
𝟑−
𝟑

 

 (d) SO
𝟐−
𝟑

, CIO
−
𝟑
 and BO

𝟑−
𝟑

 
 

 

53. In OF2, oxygen has hybridization of 

 (a)sp  (b) sp2  

        (c) sp3  (d) None of the options 
 

 

 

54. Friedel – Craft reaction is not related with: 

 (a) Sulphonation   (b) Nitration 

 (c) Acylation  (d) Reduction 
 

 

55. Photoelectric effect is maximum in  

 (a) Cs  (b) Na 

 (c) K  (d) Li 

 
 

 

56. The Molecule C3O2 has a linear structure. 

This compound has 

 (a) 4 𝛔  and 4 𝜋 bonds 

 (b) 3 𝛔 and 2 𝜋 bonds 

 (c) 2 𝛔  and 3 𝜋 bonds 

 (d) 3 𝛔  and 4 𝜋 bonds 

 

51. BF3dh yqbzZl vEyh;rk BCI3 ls de gS tcfd ¶yksjhu dh 

fo|qr _.krk Dyksjhu ls vf/kd gSA bldk dkj.k gS& 

        (a) izcy 2p (B)-2p(F) σ - cU/ku  

(b) izcy 2p (B)-2p(F)𝜋- cU/ku 

 (c) izcy 1p (B)-3p(C1) σ -cU/ku  

(d) izcy 2p (B)-3p(C1)𝜋- zcU/ku 

 

 

 

52. NO
−
𝟑
, AsO

𝟑−
𝟑

, CO 
𝟐−
𝟑

, CIO
−
𝟑
, SO 

𝟐−
𝟑
rFkk BO

𝟑−
𝟑
esa 

la vlery Lih’kht gS  
(a) CO

𝟐−
𝟑

, SO
𝟐−
𝟑
rFkk BO

𝟑−
𝟑

  

 (b) AsO
𝟑−
𝟑

 , CO
𝟐−
𝟑
rFkk SO

𝟐−
𝟑

 

 (c) NO
−
𝟑
 ,CO

𝟐−
𝟑
rFkk BO

𝟑−
𝟑

 

        (d) SO
𝟐−
𝟑

, CIO
−
𝟑
rFkk BO

𝟑−
𝟑

 

 

 
53.OF2  में ऑक्ट्सीजि क  संकरण है 

(a) sp          (b) sp2  

(c) sp3                    (d) ववकलपों में से कोई िही ं
 

 

 

54.फ्रीडिे-क्र फ्ट अलभकक्रय  निम्िलिखखत में से 
सम्बरं्ित िही ंहै 

 (a) सलफोनिकरण  (b) ि इरीकरण 

 (c) एलसलिकरण  (d) अपचयि 

 

55. izdk’k fo|qr vlj lokZf/kdesa gSA 

 (a) Cs  (b) Na 

 (c) K  (d) Li  
 

 

 

 

 

56. v.kq C3O2dh lajpuk jSf[kd gSA bl ;kSfxd esa  

(a) 4 𝛔 rFkk 4 𝜋 vkcU/k 

 (b) 3 𝛔  rFkk 2 𝜋 vkcU/k 

 (c) 2 𝛔  rFkk 3 𝜋 vkcU/k 

 (d) 3 𝛔  rFkk 4 𝜋 vkcU/k 
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57. Which will form geometrical isomers? 

 (a)  

(b) CH3CH═NOH 

 (c)    

(d) All of these 

 

58.  Which of the following has been used in the 

manufacture of non-inflammable 

photographic films? 

 (a)  Cellulose nitrate 

 (b) Cellulose xanthate 

 (c) Cellulose perchlorate 

 (d) Cellulose acetate 
 

 

59. The difference of water molecules in gypsum 

and plaster of paris is  

(a) 
𝟓

𝟐
   (b) 𝟐 

 (c)  
𝟏

𝟐
   (d) 𝟏

𝟏
𝟐

 

 

60. The Structure of XeF2 and NH3 respectively 

are 

 (a)  bent, tetrahedral 

 (b) linear, pyramidal 

 (c) linear, see saw 

 (d) bent, see saw 

61. For the reaction  

 2SO2 + O2 (excess)          2SO3the order of 

reaction with respect to O2  is 

 (a) zero  (b) one  

 (c) two  (d) three 

62. The IUPAC name of compound is  

 

 (a) 2- methyl-6-oxohex-3-enamide 

 (b) 6- Keto-2- methyl hexamide 

 (c) 2- carbamoylhexanal 

       (d) 2- carbamoylhex-3-enal 

 

57. कौि से ज्य लमतीय आइसोमसि बिेंगे? 

 (a)  

(b) CH3CH═NOH 

 (c)    

(d) All of these 
 

58. अज्वििशीि फोटोग्र कफक कफलमों के निम िण में 
निम्िलिखखत में से ककसक  उपयोग ककय  गय  
है? 
(a) सेल्लुलोज नाइटे्रट 

(b) सेल्लुलोज >sथेट 

(c) सेल्लुलोज परक्लोरट 

(d) सेल्लुलोज एसीटेट 
59. ftIle o IykLVj vkWQ isfjl esa ikuh esa v.kqvksa dk vUrj dgSA 

(a) 
𝟓

𝟐
   (b) 𝟐 

 (c)  
𝟏

𝟐
   (d) 𝟏

𝟏
𝟐

 

 

\ 

60. XeF2 और NH3 की सरंचि  क्रमशः है 

(a) cafdr] prq”Qydh;  

(b) jSf[kd] fijhfefM; 

(c) jSf[kd] <Udqyh (lh lkW) 

(d)  cafdr] -<Udqyh (lh lkW) 

61. vfHkfØ;k 2SO2 + O2 (excess)            2SO3 ds fy, O2 

ds lUnHkZ esa vfHkfØ;k dhs dksfV gS 

(a) ‘kwU;   (b) ,d 

(c)nks                            (d) rhu 

62. यौर्गक क  IUPAC ि म है 

 

(a)  2- मेर्थि -6-ऑक्ट्सहेक्ट्स-3-इि म इड 

(b)  6- कीटो-2- मेर्थि हेक्ट्स म इड 

(c)  2- कार्बोमोयलहेक्सेनेल 

(d ) 2-कार्बोमोयलहेक्स -3-इिेि   
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63. Which defect in any crystal lowers its 

density? 

 (a) F Centre  (b) Frenkel 

 (c) Schottky  (d) Interstitial 

 

 

64. Synthetic polymer that resembles natural 

rubber is  

 (a) Chloroprene  (b) isoprene 

 (c) Neoprene  (d) glyptal 

 

65. Pair is known as 

 

 (a) erythro stereisomers  

(b) threo stereoisomers 

 (c) structure isomers 

(d) geometrical isomers 

 

66. 8.50gm of NH3 is present in 250 ml volume. Its 

active mass is 

 (a) 1.0 ML-1 (b) 0.5 ML-1 

 (c) 1.5 ML-1 (d) 2.0 ML-1 

 

67. The equilibrium constants of the reaction 

SO2 (g) + 
𝟏

𝟐
O⇋ SO3 (g) and 2SO2(g)+O2(g) ⇋ 

2SO3 (g) are K1  and K2 respectively. The 

relationship between K1 and K2 will be:- 

 (a) K1  = K2 (b) K
𝟑
𝟐
 = K1 

(c) K
𝟐
𝟏
 = K2 (d) K2 =√𝑲𝟏 

68. Which of the following statements is not true 

 (a) Silk is a protein   

(b) Polyurethane foams are used for making 

pillows 

 (c) HDPE is prepapred by Ziegler Natta 

Polymerization   

(d) Viscose fabric is not made from cellulose 

 

 

 

 

 

 

63 fdlh fØLVy esa dkSulh =qfV blds ?kuRo dks de djrh gS 

       (a) FdsUnz   (b) Qzsadsy 

 (c) ‘kksVdh   (d) varjkdk’kh 

64.  ;g df̀=e iksyhej tks izkdf̀rd jcj lk fn[kkbZ nsrk gS ---------gS\
 

 

(a)क्ट्िोरोप्रीि  (b) आइसोप्रीि 

(c) िीय प्रीि  (d) ग्लायप्टाल 
65. ;qXe dgykrk gS

 
(a) एररथ्रो त्रिविम समाियी 
(b) थे्रओत्रिविम समाियी 
(c) संरचना समाियी 
(d) ज्याममती समाियी 
 

 

66. 250 ml esa 8.50gm xzke veksfu;k mifLFkr gSA  

bldk lfØ; nzO;eku gS& 

(a) 1.0 ML-1 (b) 0.5 ML-1 

 (c) 1.5 ML-1 (d) 2.0 ML-1 

 

67.   vfHkfØ;kSO2 (g) + 
𝟏

𝟐
O2 (g) ⇋ SO3 (g)  vkSj 2SO2 (g) 

+ O2 (g) ⇋ 2SO3 (g)ds jkl;fud lkE;fLFkjkad Øe’k% 

K1 ,ao K2gS K1 vkSj K2esa lEcU/k gksxk\ 

(a) K1  = K2 (b) K
𝟑
𝟐
 = K1 

        (c) K
𝟐
𝟏
 = K2             (d) K2 =√𝑲𝟏 

 

68. uhps fn;s x;s fo/kkuks es ls dkSu lk lR; ugha gS\ 

(a)flYd ,d izksfVu gSA
  

(b) iksyh;wjsFkhu Qkse dk mi;ksx rfd;s cukus esa gksark gSA
 

(c) HDPE dks f>xyj uV~Vk iksyhejkbt’ku fof/k ls cuk;k 

tkrk gSA 

(d) foLdl QsfczDl dks lsY;qykst ls ugha cuk;k tkrk gSA  
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69. Compound                                  has the  

 

 

 following prefix 

 

 (a) E   (b) Z 

 (c) trans   (d) Anti 
 

70. The structure of carboxylate ion is best 

represented as: 

  

(a)    (b) 

  

 

 

 

(c)    (d) 

 

 
 

 

 

69. यौर्गक                  के लिए उपसगि है 

 

 
 

 

(a) E   (b) Z 

 (c) र ंस   (d) एन्टी 
 

70. क बोष्क्ट्सिेट आयि की सरंचि  क  सबसे अच्छ  
निरूपण है- 
  

(a)   (b)  

  

 

  

  (c)   (d)  

 

 

 

SECTION-E 

(MATHEMATICS) 
71. If (5)a+b = 5 x 25 x125, what is the value of 

(a+b)2=   ? 

(a) 25  (b) 28 

 (c) 36  (d) 44 
 

72. If 3 x-y = 27,3 x+y = 243, what is the value of x=   

? 

 (a) 1  (b) 2 

 (c) 3  (d) 4 

 
 

73. If 6m = 46656, what is the value of 6m-2? 

 (a) 7776  (b)7782 

 (c) 1296  (d) 1290 

 

 

74. In a school 70% students like oranges and 

64% like apples. If x % like both oranges and 

apples, then 

 (a) 𝒙 ≥ 𝟑𝟒 (b) 𝒙 ≤ 𝟔𝟒  

(c) 𝟑𝟒 ≤ 𝒙 ≤ 𝟔𝟒  (d) 𝒙 ≤ 𝟕𝟎 

 

 

71. ;fn (5)a+b = 5 x 25 x125 gks rc (a+b)2=    ? 

(a) 25  (b) 28 

 (c) 36  (d) 44 

 
72.;fn 3 x-y = 27,3 x+y = 243, gks rc x=   ? 

(a) 1  (b) 2 

 (c) 3  (d) 4 

 

73. ;fn 6m = 46656] gks rc 6m-2=   ? 

 (a) 7776  (b)7782 

 (c) 1296  (d) 1290 

 

 

74.,d ‘kkyk esa  70% Nk= larjk ilan djrs gS o 64% lsc ialn 

djrs gks o ;fn x % Nk= nksuks ¼larjk o lsc½ ilan djrs gks rc  

(a) 𝒙 ≥ 𝟑𝟒             (b) 𝒙 ≤ 𝟔𝟒  

(c) 𝟑𝟒 ≤ 𝒙 ≤ 𝟔𝟒  (d) 𝒙 ≤ 𝟕𝟎 
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75. A normal is drawn at a point (x1 , y1) of the 

parabola y2= 16x and this normal makes equal 

angle with both x and y axes. Then point (x1 , y1) is 

 (a) (4, -4)  (b) (2, -8) 

 (c) (4,-8)  (d) (1,-4) 

 

76. A vector 𝑹⃑⃑  is given by 𝑹⃑⃑ = 𝑨 ⃑⃑  ⃑ X (𝑩⃑⃑  𝑿𝑪 ⃑⃑  ⃑) 
Which of the following is true? 

 (a) 𝑹⃑⃑  is parallel to 𝑨⃑⃑  

 (b) 𝑹⃑⃑  must be parallel to 𝑩⃑⃑  

 (c) 𝑹⃑⃑  must be perpendicular to  𝑩⃑⃑  

 (d) None of the options 

 

77. Two vectors A=3 and B=4 are perpendicular. 

Resultant of both these vectors is R. the 

projection of these vector B on the vector R is  

 (a) 3.2  (b) 2.4 

 (c) 5  (d) 1.25 

78. Taking axes of hyperbola as coordinate axes; 

find its equation when the distance between 

the foci is 16 and eccentricity is √𝟐 

 (a)x2 – y2 =8  (b) x2 – y2 =16 

 (c) x2 – y2 =32  (d) x2 – y2 =64 

  

79. Solutions of the differential equation 

𝒅𝒚

𝒅𝒙
= 𝟐𝒆x-y  + x2e-y is  

 (a) e-y = 2ex +
𝐱𝟑

𝟑
 + c  

(b) ey= 2e-x +
𝐱𝟑

𝟑
 + c  

 (c) ey= 2ex +
𝐱𝟑

𝟑
 + c   

         (d) e-y = 2ex +
𝐱−𝟑

𝟑
 + c  

 

80. For the circle x2 + y2 =81, what is the equation of 

chord whose mid point is (-2,3) 

 (a) 2x -3y -13= 0  (b) 2x +3y +13= 0 

 (c) 2x -3y +13= 0  (d) 3x -2y +13=0

  

 

81. If cot x –tanx =2, then generalized solution is 

(here n is integer) 

 (a) 𝒙 = 𝟐𝒏𝝅 +
𝝅

𝟐
  (b) 𝒙 = 𝒏𝝅 +

𝝅

𝟒
  

 (c) 𝒙 =
𝒏𝝅

𝟐
+

𝝅

𝟖
  (d) 𝒙 =

𝒏𝝅

𝟒
+

𝝅

𝟏𝟔
 

 

 

75. ijoy; y2= 16x ds fcUn q(x1 , y1)  ij ,d vfHkyEc [khapk 

tkrk gS ;g vfHkyEc nksuksa v{kksa  x rFkk y ds lkFk cjkcj dks.k 

cukrk gS rks fcUnq(x1 , y1)  gS 

 (a) (4, -4)  (b) (2, -8) 

 (c) (4,-8)  (d) (1,-4) 
 

76. ,d lafn’k 𝑹⃑⃑  fuEu }kjk fn;k tkrk gS 𝑹⃑⃑ = 𝑨 ⃑⃑  ⃑ x (𝑩⃑⃑  𝑿 𝑪 ⃑⃑  ⃑) 

rks fuEu esa ls dkSu lk dFku lR; gS \ 

 (a) lfn’k 𝑹⃑⃑  lfn’k 𝑨⃑⃑  ds lekUrj gS 

 (b) lfn’k 𝑹⃑⃑  lfn’k 𝑩⃑⃑  ds lekUrj gh gksxk 

 (c) lfn’k 𝑹⃑⃑  lfn’k 𝑩⃑⃑  ds yEcor gh gksxk 

(d) buesa ls dksbZ fodYi ugha 

77. nks lafn’k A=3  rFkk B=4  ijLij yEcor gSA bu nksauks 

lafn’kksa dk ifj.kke  R gSA lfn’k B dk lfn’k ij iz{ksi gksxkA 
(a) 3.2  (b) 2.4 

 (c) 5  (d) 1.25 

78.  vfrijoy; ds v{kksa dks funsZ’k v{k ekudj vfrijoy; dk 

lehdj.k D;k gksxk tc fd ukfHk;ksa dh nwjh 16 gS rFkk mRdsUnzrk √𝟐gS 

 (a) x2 – y2 =8  (b) x2 – y2 =16 

 (c) x2 – y2 =32  (d) x2 – y2 =64 

 

 

79. vody lehdj.k 
𝒅𝒚

𝒅𝒙
= 𝟐𝒆x-y  + x2 e-y

 dk gy gS 

(a) e-y = 2ex +
𝐱𝟑

𝟑
 + c  

(b) ey= 2e-x +
𝐱𝟑

𝟑
 + c  

 (c) ey= 2ex +
𝐱𝟑

𝟑
 + c   

        (d) e-y = 2ex +
𝐱−𝟑

𝟑
 + c  

 

80. o`r x2 + y2 =81dh ml thok dk lehdj.k D;k gksxk ftldk 

e/; fcUnq (-2,3)gS 

(a) 2x -3y -13= 0  (b) 2x +3y +13= 0 

 (c) 2x -3y +13= 0  (d) 3x -2y +13 =0 

 

81. ;fn cot x –tanx =2 gS rks O;kid gy gS ¼;gk ¡ n ,d iw.kkZd 

gS½ 

 (a) 𝒙 = 𝟐𝒏𝝅 +
𝝅

𝟐
  (b) 𝒙 = 𝒏𝝅 +

𝝅

𝟒
  

 (c) 𝒙 =
𝒏𝝅

𝟐
+

𝝅

𝟖
  (d) 𝒙 =

𝒏𝝅

𝟒
+

𝝅

𝟏𝟔
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82. What is the slope of the tangent to the curve 

 1 2sin siny x at x = 0 ? 

 (a) 0  (b) 1 

 (c) 2  (d) none of the above 

 
 

83. A plane is flying horizontally at a height of 1 

km from ground. Angle of elevation of the 

plane at a certain instant is 60°. After 20 
seconds angle of elevation is found 30°. The 
speed of plane is   

(a)
𝟏𝟎𝟎

√𝟑
m/s   (b) 

𝟐𝟎𝟎

√𝟑
m/s 

 

 (c) 100√𝟑 m/s  (d) 200√𝟑m/s  

 

84. If (1+𝒊√𝟑)12= a +ib, here a and b are real, then 

the value of b is? 

 (a) 0  (b) 1 

 (c)(√𝟑  )12

                     
(d) (2)12

 

 

 

85. The condition so that the line 𝒍𝒙 + 𝒎𝒚 + 𝒏 =
𝟎 may touch the parabola y2 = 8x 

 (a) m2=8𝒍𝒏  (b) m2 =2𝒍𝒏   

        (c) 8m2 =𝒍𝒏  (d) 2m2 =𝒍𝒏 
 
 

86. If 𝒇(𝜽) = 𝟐(𝒔𝒆𝒄2 𝜽 + 𝒄𝒐𝒔2 𝜽), then its value 

always 

 (a) 𝒇(𝜽) < 𝟐 

 (b) 𝒇(𝜽) = 𝟐 

 (c) 𝟒 > 𝒇(𝜽) > 𝟐 

 (d) 𝒇(𝜽) ≥ 𝟒 

 

87. Out of 100 bicycles , ten bicycles have 

puncture. What is the probability of not 

having any punctunred bicycle in a sample of 

5 bicycles? 

 

 (a)
𝟏

𝟏𝟎𝟓  (b) 
𝟏

𝟐𝟓 

 (c) 
𝟏

𝟐𝟗  (d){ 𝟗

𝟏𝟎
} 

 

 
 

 

82. x = 0 पर वक्र  1 2sin siny x के तपशी की 
प्रवणत  क्ट्य  है? 

(a) 0  (b) 1 

(c) 2  (d) उपयुक्ट्ति में से कोई िही ं
 
 

83. ,d foeku tehu ls 1 km Åpk¡bZ ij {kSfrt fn’kk esa mM+ jgk 

gSA fdlh {k.k ij foekudk mUu;u dks.k 60° gSA 20 lsd.M ckn 

dks.k 30° ik;k x;k rks foeku dh pky gS 

 

(a)
𝟏𝟎𝟎

√𝟑
m/s   (b) 

𝟐𝟎𝟎

√𝟑
m/s 

 (c) 100√𝟑 m/s  (d) 200√𝟑m/s  

 

 

84.  ;fn(1+𝒊√𝟑)12 = a +ib gS a rFkk b okLrfod gS rks dk 

b eku gS 

(a) 0   (b) 1 

 (c)(√𝟑  )12

                       
(d) (2)12

 

 

 

85. og ‘krZ D;k gksxh tc js[kk 𝒍𝒙 + 𝒎𝒚 + 𝒏 = 𝟎 ijoy; y2 

= 8xdks Li’kZ dj lds 

(a) m2=8𝒍𝒏  (b) m2 =2𝒍𝒏  

         (c) 8m2 =𝒍𝒏  (d) 2m2 =𝒍𝒏 
 

 

 

86. ;fn𝒇(𝜽) = 𝟐(𝒔𝒆𝒄2 𝜽 + 𝒄𝒐𝒔2 𝜽), gS rks bldk eku lnSo 

 (a) 𝒇(𝜽) < 𝟐 

 (b) 𝒇(𝜽) = 𝟐 

 (c) 𝟒 > 𝒇(𝜽) > 𝟐 

 (d) 𝒇(𝜽) ≥ 𝟒 

 

 

87.  lkS lkbfdyksa es ls 10 lkbfdysa iapj gS rks ikp ¡ lkbfdyksa ds 

izfrn’kZ esa ls fdlh Hkh lkbfdy esa iapj ugha gksus dh izkf;drk 

D;k gksxh\  
        (a)

𝟏

𝟏𝟎𝟓  (b) 
𝟏

𝟐𝟓 

 (c) 
𝟏

𝟐𝟗  (d){ 𝟗

𝟏𝟎
} 
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88. AB is a vertical pole with B at the ground level 

and A at the top. A man finds that the angle of 

elevation of the point A from a certain point C 

on the ground is 60o. He moves away from the 

pole along the line BC to a point D such that 

CD = 7m. From D, the angle of elevation of 

the point A is 45o. Then the height of the pole 

is: 

 (a) 

 
7 3

2 3 1
m  

(b)  7 3
3 1

2
 m 

 (c)  7 3
3 1

2
 m 

 (d) 
7 3 1

2 3 1

 
 

 
m 

 

 
 

 

88. AB एक उर्धव ििर ततम्भ है ष्जसमें B आि र 
त्रबन्र्द ुतथ  A शीिि है| एक व्यष्क्ट्त प त  है कक 
आि र पर ष्तथत एक निष्श्चत त्रबन्र्द ुC से शीिि A 
क  उन्ियि कोण 60o है| वह व्यष्क्ट्त रेख  BC के 
अिदुर्दश ततम्भ से र्दरू त्रबरं्द ुD तक इस प्रक र 
ज त  है कीCD = 7mसे त्रबन्र्द ुA क  उन्ियि कोण 
45o है| तब ततम्भ की ऊंच ई है| 

 (a) 

 
7 3

2 3 1
m  

(b)  7 3
3 1

2
 m 

 (c)  7 3
3 1

2
 m 

 (d) 
7 3 1

2 3 1

 
 

 
m 

89. How many different words can be formed by 

jumbling the letters in the word 

MISSISSIPPI in which no two S are 

adjacent? 

 (a) 
6 7

4 48. .C C  

 (b) 
8

46. 7. C  

 (c) 
7

46. 8. C  

 (d) 
6 8

4 46. C C  
 

90. Considered digits 1,2,3,4,5,6 and 7. Using 

these digits numbers of five digits are 

formed. Then probability of these such five 

digit numbers that have odd digits at their 

both ends is  

(a) 
𝟏

𝟕
  (b) 

𝟐

𝟕
 

 

(c)
𝟑

𝟕
  (d) None of the options 

 

 

 

 

89. शब्र्द MISSISSIPPI के अक्षरों को पिुि: तथ वपत 
करके ककतिे शब्र्द बि ए ज  सकते है, ष्जिमें कोई 
र्दो S सिंग्ि ि हो? 

(a) 
6 7

4 48. .C C  

 (b) 
8

46. 7. C  

 (c) 
7

46. 8. C  

 (d) 
6 8

4 46. C C  

 

90. vad 1] 2] 3] 4] 5] 6 vkSj 7 yhft,A bu vadksa dk mi;ksx 

djrs gq, ik¡p vadksa dh la[;k,¡ cukbZ tkrh gS rks bu ikp ¡ vadksa 

dh ,slh la[;kvksa ds nksuks fljksa ij fo”ke vad vkus dh 

izkf;drk D;k gksxh\ 
(a) 

𝟏

𝟕
  (b) 

𝟐

𝟕
 

 

(c) 
𝟑

𝟕
  (d) buesa ls dksbZ ugha 
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Rough Work

 

 

 

 
 

 

 

 


